SET-4

Series SSO wed. QD
Code No.
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Candidates must write the Code on the
title page of the answer-book.

o FNIAEH AR IAFTYLAIS 152 |

o TH-UF ¥ IfE g1 I AR fU MU g TR B IW-YfEdwh  §E-U8 | e |
o FUN AR A F W IE-TH 16 T F |

o THUIT UYA HT I FIEAT IE HA A UgA, U9 T ShATH Aava o |

e 3 WHUA Wl Ygd & fAT 15 fie o1 v fem mn R |y o faaor qats 8
10.15 & fohaT SIT@ | 10.15 S8 § 10.30 S b BT hael YH-IF i Teil 37T
39 A o GUH o IT-GETRT W HI3 I T8 T |

e Please check that this question paper contains 15 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 16 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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T : FRIATY qurigT: : 100
FEgiRa a7 : 3 a2 S7ferHa 37 : 100
Time allowed : 3 hours Maximum Marks : 100
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AT GG JTAHGHIN, GEHa-d TGN |
&l T9T T 78] &, I& I GEHd 4 &1 g |/

Answer the questions in Sanskrit only unless stated otherwise.

ST o777 wedR: GUST: Tl |
57 Jv1.97 4 GR GUE 8 |

There are four sections in this question paper.

T UE: & ST — ey (3Tafsamyr — sraaier) 10 TST:
SECTION A (Unseen Reading Comprehension)

gue: @ GEhd TR (HEhd TS 1Y ) 15 3T

SECTION B (Sanskrit Writing Skills)

Qus: T AT AR (STTIIH HThLT) 30 3T
SECTION C (Applied Grammar)

TuE: o 9T 1 — gfearsr — sraargy (qfedrs — asied) 35 TS

SECTIOND PARTI—  Reading Comprehension
HIT 11 — | EhaETigedaie:
(AT S%ha Aifecd qi=d) 10 37T

PART II — General Introduction to Sanskrit Literature

22 2
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Qus: < (SECTION A)
AAFSATI — ST
AUTSATI — TSI
Unseen Reading Comprehension 10 3gT:

FYIfAIRad TR IfSca JEAITAHH IV HEeholA ol
Fffaa T ol 9t TaT Tl o I HHhd H fARaT :
Read the following passage and answer the given questions in Sanskrit :
T
RgaRIy MadamdamEr: Al wu e uiig wfed | fawar dadf
yfafed o= TTcal HTSe@USTH A T0 | Tehel a&m: Ga: AU qan @rd ad
T | T AU SR @ed €: 3asad: YA W | g heure S
Th: Y §fE: AMTA T SIeTeh C¥aH, | SEHeROHG | dTfeh: Ja: | e
T gad e TiaH] aREaior Ulegy, TReded! | TR AHieeh 3@ "ighawai 1
WAl g8 9 TTed Tehid qd G IH: Siatig siiededt | §g: wvad g
gfodread et Sared - “Stae g fgam seed vafd | Taeg s/ |
Acdclieh: Shedd | 3Tq: T3 WM HT H% | Jad: JMOf 7 Harrd g4: Shafd |7
qIAT:
(37) UehUCH IO |

Teh 9eg H I T |

Answer in one word. L xq=2

(1)  SIgSTashy HET: TR HAT qEgl ?

(i) TiaHY 3 TTean I T=Afd & 2

(i) HUEY: HE TAFM d: ;2

(iv) 3 TiaHt g T @mefa @ 2

(9) qulaTeRH I |
Ul 9T | 3T T, |
Answer in a complete sentence. I1x2=2
(i) Fg: T wmad g Sfaarieda ?

(i) et T Tfeiqed 2

3 P.T.O.



22

(|) Iy I |
frdamgam 3T i |

Answer as directed. 1x4=4
(i) ‘FEhe e foemor fopg 2
(i) Fog:’ 39 b wEvey o Y ?
(iii) ‘AT g foetmdg fog 2
(iv) ‘wrar=a 3id fshamdes shqug ford ?
(3) T AT=0eH Fd IUYh ¥k T&hdd for@d |
T ITRE h foTT TEehd § 39w 3eh faf |
Write a suitable title for this passage in Sanskrit. 2

@vus: @ (SECTION B)
Wﬁ TEATCHHR®HEH
HEhd TEATCHS T
Sanskrit Writing Skills 15 37gT:

WaH AfehdT: | STCHISI-TRG: e Ut o fereemn wesmmae: R 9
RGE forea |

39 Afeehdl & | STeHIST ¥ 379 i &l WSl TC 93 | e i sl 7o & gl
T quf L % g: Tafaw |

You are Nachiketa. In a letter, sent to your friend from Almora, fill in the

blanks with the help of the words given in the box and rewrite the same.

éx10=5
oy
eI,
ﬁ:ﬂ?{;%:
Trafis gepar !
qua 9 H:,
W WA () | sEe farmeRg
JURTTAYHVRRIShATIY  TeHISR Jemdisfe | (i)
=iy fasdort (i) AT (iv) |
3 JYgad: (v) | TAM-TAH 3T IATIGATH H-ATEERIE AT

4
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A T (vi) fosRanef gwa=d | AR (vid) g 199

HEMTREd, TATSRUGHUTdT 313 (viid) | T I @HY 3T
IS, T (ix) __ Fqufesafd | () T JuHTSSTA
freem | 3ty Afersama: |
Hag=Red:,
Firehar: |
HS[IT

HIATUG=R0, TG, 3TH-<eH, feReRe, 39ad, fedml, e, TS,
Jagld, HTaEAT |

Ho[uTIEAeTeeH] TERIGAT AL ARGar Teehem Freamr e wei 3
forEa

.

Wﬁﬁqw@ﬁm@ﬁm&%wmﬁﬁﬁwﬁaﬁﬁw

AT hl NGE %I'F@Q :

Fill in the blanks of the following short story with the help of the words
given in the box below and rewrite the same : éx 10=5
h T

ST (1) Teh: TOE: g@fd W | Tha @ (i)

JY: gH A | 9 Th: (iii) T I T IIN 3T/hed, I
= (v) T | g 98 d WRREH 3Ta: Sa: | gl
(v) queh: Iaed — W (vi) HEY A % | SfuaEm

3 9 (vii) HICATH | TAq_ (viii) 8: 31euq W

(ix) EhY Asaq | qFaRg Thal 88 (%)

THIRG STel Heg: | 981 | qWeh: TN SAAIEUIG: ST sha-¥, 3Tehild |

STt

=d:, a4, W, JFE, g1, ©gl, @EEdM, seed, 9N |, qu: |

P.T.O.
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AT YEOUeHl HeREddl Usa-g%haaidy ‘HEhded HEgwH 3id fowae

Tf¥ehed JuiH FEa |

ool H fou U el i el ¥ “Ohae Hewd fawg &1 vl uta 9%k

e | ShifoTT |

With the help of the words given in the box below describe “Fi'@ch_d’{?l

HewH_(Importance of Sanskrit) in five sentences in Sanskrit.

T

1X5=5

AT TS, dgn:, QUUTH, ANT-STIHE-GuH-IRT:,  JaaRIeaHl T,

ThAREH, SEATd, §a GERN:, A, TIUEHE, SATHTM, JIUH: |

W@vus: T (SECTION C)
ATIIThHEATRIUTH

AU h HTh{0T
Applied Grammar

ATARIqaTRY @TgaaHT afFu=sg $ed
frfaRaa ameril 4 WEfgd 9ai 1 afFa-foesg HINT

Disjoin Sandhis in the underlined words of the following sentences :

(i) T R |

(i) TY WM AURhRHATSH |
(i) ¥d TG |

(iv) TR YeeE: |

(v) 319 HHYEE: |

(vi) T = wu & fo 9y |

30 3T

1X6=6
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FIIRGaaTeY (@I gaarREqIgHT foigT: TET:
ffafea e | TErtgd gas val o fourg faRa

Expound the underlined words of the following sentences :

()  ife"En = e |

(i)  YIH quelidcasd |
(i) IHE HENE AT
(iv)  Gd I Ui |
v) @ B |

(vi) st @ Hgfr: e |

ALITARGTTRIY BT TAND T TeIF = ASTrrca e T T

I1x6=6

frfciiaa ameli H hig® o T=HId 4l 5 Thid o a1d (s Jo@ &l e

et 1 i if

Fill in the blanks in the following sentences by adding suffixes to the

roots and words given in the brackets :

i ‘Tmw vald wrgaed | (37 + T3 + @)
(i) ‘TR TSRS ’ (0 + 9 + frm)
(i) ¢ Jgted | (TR + a9)
(iv) ‘o/dua Feotd I’ (9 + 997)
v 95 Fid withwrd gl |7 (W1 + 7q9)
(vi) ‘@q: g9 T ” (3T + T + T4
(vi) ‘g afed 1 (9 + 99 + foreH)
(viii) 9= HIAUTS HAUM |’ (JaTd + 3%)

7

1x8=8
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FTARIAY IRy - fehamagan: st foheam
fafeafigd ol § shal wa fshan Ul <hi 3rf=fa il :

Write the suitable verbs according to the subject in the following

sentences : I1x5=5
) F@ATHFEA I’ (fassfa/fassf=)
(i) ‘TR S ©F | I’ (eTfosad/stufas)
(iii)  ‘“wrERHYT fg g P (Evfafa/gasat)
(iv) ‘cerayesiar: fr: I’ (SMeTa/aneT=)
(v)  ‘FawEcsy g J I (Shafs/shafd)
AUAT (OR)

freaferfea ame # fonrsai o @y oo & fomivor 9gi i ey :
Add the appropriate adjectives from the box with their qualifying nouns

in the following sentences : 1x5=5
(i) ‘g gw g |
(i)  ‘3eH JIRRE U= e
(iii)  JoU Yfeceh I aqet = I’
(iv) ‘@d= H SreHta T |
v) T Tsgfaear 7 TRE 1
STt

sifeH, Fftar, amwfaen, Fegemes, ggar |

FGIARGAY ATIY HIThUC: T8 ITIHIAH D T NReAHIH Id
frafafaa gt o wms o fou U seel & Iwgw faufe =1 s s fepeemi

£ 9 B

Fill in the blanks using appropriate case-endings (fa¥ftF) with the words
given in the brackets in the following sentences : 1x5=5
()  Ae: g IcHa: | (TauE)

i) ¢ wfa gt gl 17 ()

(i) ‘@@Ha _ ofa«lthad | (qE)

(v) ‘g U " (ferea)

v) ‘_ =qvfawfd, ad saead | (¥ed)

8
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FfARad e, 9E, e ¥ Ui qerdTia YoM HEehde 3T

@us: ¥ (SECTION D)
T I
(PART'I)
Aot — srae
At — sreraem

Reading Comprehension

356 SISI:

frfaRaa e, wer Qe 7T Sl Ut 3 W IMYTRA Tl % I HERd §
i
Read the following prose, poetry and drama passages and answer the
questions based on them in Sanskrit :
TSN

“feafeaq SR sHTafaETr, Selcaedfd:, Jgufasea gfd s goe:
gicedf=d T | 3TY = T TARE el TeBIGH: HeEasii o iy: I —
‘3@ TgECIST 7S, mﬁqwﬁq aﬁﬁa: | 3@ g IERIM:
AT | dd: JATd 37 3Teaed | sfa e (7

()

q9T:

) ThueH 3T |

Teh 36 § I <IN |
Answer in one word.

() AR fd qee: gfdaaf<a & 2

(i) Heesited: foh goear yuTd AR famaaf=d 2

qUiaTeRH 3T |

9ol Fe § IR T |

Answer in a complete sentence.
B3: shigdl IATHIA ?

T 3T |

frdemgam s difvT |

Answer as directed.

i) ‘T’ 3fd FE dee fommon ?

(i) ‘AreHysRy:’ 3 T o 9 T ?

(iii) ‘Wfceafd = 3fd foramaeer foh quey ?
(iv) ‘Tera:’ soore T foetivuey 1 =ae Ty ?

9

—x2=1
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(@) =
“@ Topea a1y 7 wmfed Arsfaom
feam= = gyud & fohuy: |
qedEay f& Held T,

TUSTHTRY & Fagre: 117
9T

(31) THIH 3T |
Teh vee § I ST |

Answer in one word. ~x2=1

G) T ARG AMET IS I ?

(i) JUSIHATIY HT{DAY <hl: T Fad 2
(¥) YuiameRH 3T |

oot g | I @i |

Answer in a complete sentence.
%: fpuy: wafa ?

(|)  Femfrcem SRa |
ﬁé-’ellﬂ(«ll( I EINT |

Answer as directed.

(1) Uy geae s o 2

(i) ‘ge: T s Toh eH, 37 WY ?

(iii) ‘e foegy scae T faetmuey s vy 2
(iv) ‘Fad 3T Hqug o ?

(M) e
“FrogeiT; — 3GH AETERE TEH | 318l UsiesHi=n favfd: |
qUE — TMHIEM IUAHGHY Taq Tr@ved, 3a: fars:
aﬁaﬁaﬂ%ﬁw:,mwﬁnqﬁﬁm CIREIER
Sfeur:, St i | 9@ @ ﬁ:Fﬂ%FilTﬁlﬁ-‘l: Q?l'l‘g’-‘?f: ST

TS qurerg, Toard |7

10
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T
(3)

TehYed 3 |
T &8 H I AN |

Answer in one word.

(i) STYHAEIRI HEI g FuId ?
(ii) THATTY 3TANGH fohH T ?
qUiaTeR 3T |

oot gy § I @R |

Answer in a complete sentence.
RS TjUIER'L% Mod ?

JTfCI I |

fréamgam s o |

Answer as directed.

(i) ‘“arEvEn’ Y foh ey o YIHY ?
(i) ‘e e faetmag foRe 2

(iii) “TSTTERSmE:” $f0 9E HER TR ?

(iv) ‘s’ scoea o wrteey o ?

TG Tegad 3T |
FrEomaR gt wwAl % 3 @ |
Answer both the questions as directed.

‘O Bg: T eIy TEIN: MG ITT: USh: FgiIF-aed T@HS o

(3)
C)

e 379 o T feu e <ffe wranet ®§ § 3g Wl 1 99 e v

EIEEd

foraa |

‘g@ & 3@=HYT MY | 3HT 9iSwh : % Fad ?
ARy I Jed-AraTe: TATq g Hrened ferean fored -

—x2=1

2+2=4

Pick out and write the correct one out of three explanations given for
each of the following lines :

‘T T 7 IR Ag SNy gEv. |

(3)

(1)
(i1)

(iii)

Eﬁ@ﬂ?:%‘dﬁﬂaﬁl
TG HIsfU e T gt wafd |
TINGY o W 7 YA € UE g |

11

242=4
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C)

‘T fem Fifeoeres st wad sadafa 1

() Bfa: e W agAfd |

(i) Hfd HH SHeRd TaaUSIRHTa hifd dggl HUT |
(iii) TewTee gia: Mg fgw agaf |

YAt (OR)

FfRgas Tod Jed WA wesEmgade: R g4: fored
fferfaa we % feu e wrenef w6 wesn # few ¢ wei & qui o g forfeu

Complete the central idea of the given verse with the words given in the

box and rewrite the same : Ix4=4
“Trer e Tt HTTTRE,
gegHen Haaf=d arean: |
A TACATE = oA
%A 9 o4 9 dag fassfa 117
wrarel:
HTA: IREdIRid: o9 98 AU o4 9E: wafd |
ST e AU o1 WAt | e formE Semy
9 ¥y yfewn omgfa:, g = Hea feR waa: |
RESAL
yeafd, foen, feroga:, foegar |
AYTANGT TAIhgaed Yea-ad HeuIa: Ue: Nredmyfd Seal a9 I
orEa
FTfiad &1 Yaiehl o QU T 3Tl | Hos[l o 9ai | feheer i &l gfd
31 & O4: feaf :

The prose-order-renderings of the following two verses have been given
below. Fill in the blanks from the words given in the box and rewrite the

same :

(31)

“Trdu fageivaf~ gee: Thar yaame: |
T HH T JeARY Fd aE FEIEId 117

12
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A
fada: ﬁﬂ'@?ﬂﬁ'ﬁ, 3MYq: ThaT: ‘ﬁ: AU =
DI Fad, Iq HrATeId |

(@) “GcHa sEfd AT, eF g faadr e |
ATHA-CTTA! BT, ¥ dedeaed T e 117

AT
g9q T SEd _ F, @M "ed fada: |
STTHRMT: AT I aq & g v faemy |

i ALl
JMRAI, HaE:, KA, Wald, TA:, HH, FFAH, T |
FTARGAT F TP IR @ TP JaITs): I8 HIhared hedl
T g fored
frafafea & Ty & ameEe &1 @ S & IR |91y A1 T W
Tﬂ%ﬁﬂﬁgﬁ o -

Match the following sentences of column ‘& with the suitable sentences

of column @ and rewrite the same : Ix4=4

‘w =’
i) T FESHE (1) Fmsrdi: feofsars: |
(i) Tl Tz Qe U (¥) qouE HiegE WU _ |
(i) QgT TY FHEH: (@) fasaadtean: afEme: |
(iv) WY Icehivl <hET: () = WSy 9% |

FARGAY AR TETIEARSGH THFTHHRH Hrefehe 31 ferean fored
frafefaa ame & Wafga vegi & yaeaR wnede 319 e fafau

Select and write the appropriate meanings of the underlined words in the

following sentences : I1x4=4

(1) FUSTH ATEUSAICH: |

(i) gafeE:
(i) fgemfes:
(iii) Ifesr: |

13 P.T.O.



(@) i |
G) ST
(i) W

(iii) 3T |

(|) Hgdeh ufurerag |

(i)  &H
(i) feam
(iii) TRH |
(®)  weeshifr: Hoegert Siwaf |
(i) e
(i) wHlg:
(iii) oo |

@vus: ¥ (SECTION D)
quT 11
(PART II)

T : AEhaaTgeay e
[T HERA ATfged aiter

General Introduction to Sanskrit Literature

16. (31) FNGfRIdy HEAMU Tehey TiEH: TN=F: T&had T&:
frfafea # @ forelt ger 1 |fm aiee a%pa # fofex

Write a brief note on any one of the following in Sanskrit :

WRfa:, wifceE:, wgan: |

AAAT (OR)

22 14
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ARG HesTIeHERaa freamT e 31 foed -

frferfiea o AosT & ug) i TErar | e i gfd s g4: fofe :
Fill in the blanks in the following using the words from the box

and rewrite the same : L x10=5
() e PR e waf 2
(i) = Tafd |
(iii) TUSHETR IR T I |
(iv) gyadfear proce =l
(v) Oerfga=qr_ Afefid |
(vi) USEdE A@h: At |
(vil) TG fawd wafd |
(viii) ATehY FgHT: HeAd |
(ix) S a®mam _ 3fy sife
(x) EmRe _ fafea: |
qo—qg'r

FECH AT, Tal, FAT0:, TfqeheH, hogehl, Ades, iy, TeH,
forsopemi, FEem: |

(|) WEheIE Wl: AU usg faevar: §&had foeq |
HEThIeA i fehegl uter foiwanati s &ha ¥ fafau |

Write any five characteristics of Mahakavya in Sanskrit.

15
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